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000 OO O O Untouched, the current system will run dry in about 35 years-well before most current college
students retire although the payroll tax would provide for paying benefitsat about three-quarters of the scheduled
level.53 No one seriously expects social security to disappear; the political system won't allow that. The greater
question, in theUnited States and elsewhere, is how to find a reform that pays the debts already incurred with
minimal collateral damage to the supply of capital into productive investments.The Great Depression shaped both
modern macro economics and many of theeconomy's institutions. The extremely high unemployment and the
length of the Depression led to the view that the private economy was unstable and that government intervention
was needed to maintain high employment levels.Keynesian economics succeeded because it seemed to explain the
causes of the Great Depressiona collapse of investment demand and because it pointed to expansionary fiscal
policy as a means of preventing future depressions.In the U.S. economy, broad trends in money growth and in
inflation do coincide.Money growth does affect inflation, but the effects occur with a lag that is not veryprecise. In
the short term, inflation is affected by other than monetary shocks, for example, fiscal policy changes and supply
shocks.
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